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QUESTION 1

A business analyst has identified that one of the use cases on a use case diagram contains a large amount of optional
processing. This optional processing is so large that he has decided to remove it to a separate use case which can be
called by the original use case if required. How should the original use case be linked to the new use case? 

A. By a broken, arrowed line stereotyped with the word . 

B. By a broken, arrowed line stereotyped with the word . 

C. By a solid line with no arrowhead or stereotype. 

D. By a broken, arrowed line stereotyped with the word . 

Correct Answer: D 

 

 

QUESTION 2

Which of the following diagrams explicitly shows the sequence of tasks? 

A. A swim-lane diagram. 

B. A use case diagram. 

C. A business activity model. 

D. A class model. 

Correct Answer: A 

 

 

QUESTION 3

Which of the following only includes explicit corporate knowledge? 

A. Skills, values, communities of practice. 

B. Job descriptions, tasks, targets. 

C. Culture, norms, historical data. 

D. Style guides, procedures, processes. 

Correct Answer: D 
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QUESTION 4

What does the O\\' stand for in the CATVVOE analysis? 

A. The objectives of the business system under review. 

B. The opportunities for change in the business system under review. 

C. The organisation of the business system under review. 

D. The owner of the business system under review. 

Correct Answer: D 

 

 

QUESTION 5

The entity relationship model below shows the relationship between Customer and Order. Which of the following
business rules is correct? 

A. An order may be placed by many customers. 

B. A customer may place many orders. 

C. A customer may never place an order. 

D. An order need not be placed by a customer. 

Correct Answer: B 
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